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They all see and show their mothers - JARY IR NN 1T

Overview

01Dm0 stated in the name of 7°Xn ' that by a blind girl there is no 2°21n2 niwv
because (as X771 " explained) she is banged on the ground and loses her 2°21n2. The
X3 asked, ‘all the other girls also are also banged on the ground’, and answers,
‘all the other girls see [the blood] and show it to their mothers, however the blind
girl does not see, so she does not show it to her mother’. There is a dispute between
"w1 and MdOIN how to explain this X3,

- INYon MY NN NY ON 29I 10V 1799y MPDI Lovpn WY
>"w9 explained, and the mothers (when the see the blood) they rule regarding
their daughters that they are vy nom and therefore considered like nY»'wa, and so
therefore if she (the yv n2m) did not inform her husband, she tricked him and that
is why he has °%n2 niww —

nooIN asks on "'wAo:
- (o1 g1 NI P93 N9 1ONX ONN 2391 “19919995 ONN 9397 NI N1 IWI9Y NYD)

And there is a difficulty with s“"w" interpretation, for this discussion is

according to »''%, and »''Y maintains in the first p2p -
- SoynNm 13 9990 RY 192 N2 9997 192 XY N9MT

That regarding a y» n>12, whether he knew beforehand that she was a y¥ nom, or
whether he did not know beforehand that she is a yv no>m, her 7212 is two
hundred 111, so how can there be 2°21n2 nwv —

moon offers his interpretation:
= PANRT NN MINIT INTID W1 1917 PN 135297 NI

And it appears to the >'' that this is the explanation; they all see (the blood)

and show it to their mothers -
=119 YT JIININY \Y N )Y MY

i 772,

% In our "1 it states NN TPRY (not M2 1IW).

? See footnote # 5.

* 01omo stated this ruling (about a X»10) according to »". See ‘Overview’.

5 It seems from >"w1 who writes, VYT NV T XS oX) that the reason he has 0°21n2 Ny is because she did not inform
him that she is a y¥ n2m, but what claim can he have, (especially) according to »n"9 who maintains that a Yy nomn
receives the entire 72103, regardless whether or not he was aware of it before they were married!
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And they know that they are yy now, for their mothers tell them -
- 511597 A9INA NIPIN X3 DIINA THAY SANEM XY MMIN “NYIWA] 2979

So therefore, [when he says, ‘I did not find any 2°91n2 by your daughter’, and

she says, ‘I was a 79 1n2’ -
= [PIN \Y DM NN NNN 19 ORY \Y NI MIND 19D PN

We should not attribute his not finding 2°71n2 by assuming that she is a y¥ nawm,

for if indeed it is so, she would have said, ‘I am a y¥ n31%’] for she knows if she is a
Y'Y nom; her mother certainly told her -
- 299912 NIYVL 1Y WO SN \Y NN NN NY 29

And since she did not say, ‘I am a y» n>v2’, therefore she has 2°91n2 niyw -
= 719N X912 HY N NY DM NOIY 1Y IO YaN

However, by a blind woman we assume that she is a y¥ n>» even though she

did not say that she is a yv n2w, the reason for this difference is -
£ DM NNN PN HANRD AN NN AN NIRY 29D NPT NINY

Because she does not know, since she does not see the blood, so she does not show
it to her mother, and therefore her mother does not tell her that she is a ¥ now.

Summary
Regarding a blind girl we can claim that she is a y¥ n2w, since she never showed

her mother, however a ‘regular’ girl is not assumed to be a y¥ N>, unless she
claims so.

Thinking it over
The simple reading of the X n3; all girls see (the blood) and show it to their

mothers (and the mothers tell them that they are a y¥ n31n) but these (blind girls) do
not see (the blood) and do not show it to their mothers (so the mothers do not tell
them that they are v n21); does this language lend itself more to >"w"5 or to *"757?

® A marginal note indicates that the bracketed insert is from a 21> n19o.
" Her husband is believed to claim that she was 72¥31 and she loses her 7210>.
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